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Direction:

In each of the following sentences given below, four wor ds have been printed in bold which are numbered (1), (2),
(3) and (4). One of these wor ds may be misspelt or inappropriatein the context of the sentence. Find out the
wrongly spelt or inappropriate word. The number of that word istheanswer. If all thewords are correctly spelt
and are appropriate, then, the answer is(5), i.e., ‘All arecorrect’.

Question No.1
The institution of marriage takes a bizare turn when marriage for the girl is equated to getting crucified.
Options:

1. crucified
2. institution
3. bizare

4. equated

5. All are correct
Answer : bizare

Direction:

I'n each of the following sentences given below, four wor ds have been printed in bold which are numbered (1), (2),
(3) and (4). One of these words may be misspelt or inappropriate in the context of the sentence. Find out the
wrongly spelt or inappropriate word. The number of that word isthe answer. If all thewords are correctly spelt
and are appropriate, then, the answer is(5), i.e., ‘All arecorrect’.

Question No. 2

Creating a market for certified labour force will ensur e better wages for those who are certified vur susthose who

are not.
Options:

1. vursus
2. certified
3. wages
4. ensure

5. All are correct
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Answer : vursus

Direction:

In each of the following sentences given below, four words have been printed in bold which are numbered (1), (2),
(3) and (4). One of these wor ds may be misspelt or inappropriatein the context of the sentence. Find out the
wrongly spelt or inappropriate word. The number of that word isthe answer. If all thewords are correctly spelt
and are appropriate, then, the answer is(5), i.e., ‘All arecorrect’.

Question No. 3

With the finished product reflecting the quality of an independent film, a growing number of filmmakers have

applied there skills to wedding videogr aphy.
Options:

1. independent
2.there

3. reflecting

4. videography

5. All are correct
Answer : there

Direction:

In each of the following sentences given below, four words have been printed in bold which are numbered (1), (2),
(3) and (4). One of these words may be misspelt or inappropriate in the context of the sentence. Find out the
wrongly spelt or inappropriate word. The number of that word isthe answer. If all thewords are correctly spelt
and are appropriate, then, the answer is(5), i.e., ‘All arecorrect’.

Question No. 4

The law enacted by section 124 A is quite wague and blurs the distinction between anti-government and anti-

national acts.
Options:

1. wague
2. government
3. distinction

4. enacted
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5. All are correct
Answer : wague

Direction:

I'n each of the following sentences given below, four words have been printed in bold which are numbered (1), (2),
(3) and (4). One of these wor ds may be misspelt or inappropriate in the context of the sentence. Find out the
wrongly spelt or inappropriate word. The number of that word istheanswer. If all thewords are correctly spelt
and are appropriate, then, theanswer is(5), i.e., ‘All arecorrect’.

Question No. 5

It has taken seven decades for INDIA to realise this & thankfully waking up to fix the malady though economic &

diplomatic & now global enlightenment.
Options:

1. realise

2. enlightenment
3. decades

4. though

5. All are correct
Answer : though

Direction:
Read the following passage car efully and answer the questions given below it. Certain words/ Phrases have been

printed in bold to help you locate them while answering some of the questions.

Ganga is the living symbol of the faith of Indianness. The Ganges is the largest river in India with extraordinary
religious significance. The river provides water to 40 per cent of India’s population in 11 states of India. In other
words, Ganga is the lifeline of India. The holy Ganges, whichdescended from Gangotri, is becoming muddy day by
day. Today it is considered the sixth most polluted river in the world. According to the World Bank report, the

polluted Ganges water is the cause of 12 per cent of diseases in Uttar Pradesh. It is a matter ofgrave concern that

Ganga water is neither drinkable nor is it suitable for bathing nor irrigation. Scientists believe that the Ganges water

contains a bacterium called bacteriophage, which kills bacteria and other harmful micro-organisms. But due to
pollution, the number of these beneficial viruses has also decreased significantly. Apart from this, turtles, fish and

other aquatic animals playing an active role in making Ganga clean are on the verge ofannihilation. According to
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the 2018 report of the Central Pollution Control Board, there are 151 streams where about 10 lakh litres of water
flows daily and these drains meet in the Ganges, from which about 10,500 million litres per day (MLD) of polluted
water reaches the Ganges every day. The amount of BOD (biochemical oxygen demand) in this polluted water
ranges from 350 to 430 tons per day (TPD), which is equivalent to the defecation of more than one crore people.
According to a United Nations estimate, 80 per cent of the contaminated water is being dumped in the two main
tributaries of the Ganges River. A campaign to clean the holy river was started in 1986, it is called the first phase of
the Ganga Action Plan. Under this, the government made several efforts. After this, Yamuna Action Plan-I, Ganga
Action Plan-2 and Gomti Action Plan were launched, but none got good results. Later, the Narendra Modi
government has launched the Namami Gange scheme. This scheme was started by the government in 2015 and a
provision of 20 thousand crores was made for it. Namami Gange projects to be completed by 2022. This target was

earlier set for 2019.

Question No. 6
‘Ganga is the lifeline of India”. Which of the following justify this statement ?
Options:

1. Ganga is considered holy in India

2.1t is the second largest river of India

3. It provides water to 40% population in 11 states of India.
4.BothB& C

5. All of these
Answer : It provides water to 40% population in 11 states of India.

Direction:
Read the following passage car efully and answer the questions given below it. Certain words/ Phrases have been

printed in bold to help you locate them while answering some of the questions.

Ganga is the living symbol of the faith of Indianness. The Ganges is the largest river in India with extraordinary
religious significance. The river provides water to 40 per cent of India’s population in 11 states of India. In other
words, Ganga is the lifeline of India. The holy Ganges, whichdescended from Gangotri, is becoming muddy day by
day. Today it is considered the sixth most polluted river in the world. According to the World Bank report, the
polluted Ganges water is the cause of 12 per cent of diseases in Uttar Pradesh. It is a matter ofgrave concern that

Ganga water is neither drinkable nor is it suitable for bathing nor irrigation. Scientists believe that the Ganges water
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contains a bacterium called bacteriophage, which kills bacteria and other harmful micro-organisms. But due to
pollution, the number of these beneficial viruses has also decreased significantly. Apart from this, turtles, fish and
other aquatic animals playing an active role in making Ganga clean are on the verge ofannihilation. According to
the 2018 report of the Central Pollution Control Board, there are 151 streams where about 10 lakh litres of water
flows daily and these drains meet in the Ganges, from which about 10,500 million litres per day (MLD) of polluted
water reaches the Ganges every day. The amount of BOD (biochemical oxygen demand) in this polluted water
ranges from 350 to 430 tons per day (TPD), which is equivalent to the defecation of more than one crore people.
According to a United Nations estimate, 80 per cent of the contaminated water is being dumped in the two main
tributaries of the Ganges River. A campaign to clean the holy river was started in 1986, it is called the first phase of
the Ganga Action Plan. Under this, the government made several efforts. After this, Yamuna Action Plan-I, Ganga
Action Plan-2 and Gomti Action Plan were launched, but none got good results. Later, the Narendra Modi
government has launched the Namami Gange scheme. This scheme was started by the government in 2015 and a
provision of 20 thousand crores was made for it. Namami Gange projects to be completed by 2022. This target was

earlier set for 2019.

Question No. 7
Which of the following is/are impact/s of pollution in Ganga?
Options:

1. The number of bacteriophage bacterium has increased significantly in Ganga.

2.12 percent of diseases in Uttar Pradesh are caused by the polluted Ganga water.

3. The turtles, fish and other aquatic animals who play an active role in the cleaning of Ganga are about to
extinct.

4.BothB&C

5.AllA B&C
Answer : Both B &amp; C

Direction:
Read the following passage car efully and answer the questions given below it. Certain words/ Phrases have been

printed in bold to help you locate them while answering some of the questions.

Ganga is the living symbol of the faith of Indianness. The Ganges is the largest river in India with extraordinary

religious significance. The river provides water to 40 per cent of India’s population in 11 states of India. In other
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words, Ganga is the lifeline of India. The holy Ganges, whichdescended from Gangotri, is becoming muddy day by
day. Today it is considered the sixth most polluted river in the world. According to the World Bank report, the
polluted Ganges water is the cause of 12 per cent of diseases in Uttar Pradesh. It is a matter ofgrave concern that
Ganga water is neither drinkable nor is it suitable for bathing nor irrigation. Scientists believe that the Ganges water
contains a bacterium called bacteriophage, which kills bacteria and other harmful micro-organisms. But due to
pollution, the number of these beneficial viruses has also decreased significantly. Apart from this, turtles, fish and
other aquatic animals playing an active role in making Ganga clean are on the verge ofannihilation. According to
the 2018 report of the Central Pollution Control Board, there are 151 streams where about 10 lakh litres of water
flows daily and these drains meet in the Ganges, from which about 10,500 million litres per day (MLD) of polluted
water reaches the Ganges every day. The amount of BOD (biochemical oxygen demand) in this polluted water
ranges from 350 to 430 tons per day (TPD), which is equivalent to the defecation of more than one crore people.
According to a United Nations estimate, 80 per cent of the contaminated water is being dumped in the two main
tributaries of the Ganges River. A campaign to clean the holy river was started in 1986, it is called the first phase of
the Ganga Action Plan. Under this, the government made several efforts. After this, Yamuna Action Plan-I, Ganga
Action Plan-2 and Gomti Action Plan were launched, but none got good results. Later, the Narendra Modi
government has launched the Namami Gange scheme. This scheme was started by the government in 2015 and a
provision of 20 thousand crores was made for it. Namami Gange projects to be completed by 2022. This target was

earlier set for 2019.

Question No. 8

The Ganges descended from which of the following?
Options:

1. Narmadakund
2. Gangotri

3. Yamunotri

4. Angsi Glacier

5. None of these
Answer : Gangotri

Direction:
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Read the following passage car efully and answer the questions given below it. Certain words/ Phrases have been

printed in bold to help you locate them while answering some of the questions.

Ganga is the living symbol of the faith of Indianness. The Ganges is the largest river in India with extraordinary
religious significance. The river provides water to 40 per cent of India’s population in 11 states of India. In other
words, Ganga is the lifeline of India. The holy Ganges, whichdescended from Gangotri, is becoming muddy day by
day. Today it is considered the sixth most polluted river in the world. According to the World Bank report, the
polluted Ganges water is the cause of 12 per cent of diseases in Uttar Pradesh. It is a matter ofgrave concern that
Ganga water is neither drinkable nor is it suitable for bathing nor irrigation. Scientists believe that the Ganges water
contains a bacterium called bacteriophage, which kills bacteria and other harmful micro-organisms. But due to
pollution, the number of these beneficial viruses has also decreased significantly. Apart from this, turtles, fish and
other aquatic animals playing an active role in making Ganga clean are on the verge ofannihilation. According to
the 2018 report of the Central Pollution Control Board, there are 151 streams where about 10 lakh litres of water
flows daily and these drains meet in the Ganges, from which about 10,500 million litres per day (MLD) of polluted
water reaches the Ganges every day. The amount of BOD (biochemical oxygen demand) in this polluted water
ranges from 350 to 430 tons per day (TPD), which is equivalent to the defecation of more than one crore people.
According to a United Nations estimate, 80 per cent of the contaminated water is being dumped in the two main
tributaries of the Ganges River. A campaign to clean the holy river was started in 1986, it is called the first phase of
the Ganga Action Plan. Under this, the government made several efforts. After this, Yamuna Action Plan-I, Ganga
Action Plan-2 and Gomti Action Plan were launched, but none got good results. Later, the Narendra Modi
government has launched the Namami Gange scheme. This scheme was started by the government in 2015 and a
provision of 20 thousand crores was made for it. Namami Gange projects to be completed by 2022. This target was

earlier set for 2019.
Question No. 9
What does BOD stands for?

Options:

1. Bifurcated Oxygen Developed
2. Biological Oxygen Demand
3. Biogeochemical Oxygen Drained

4. Biochemical Oxygen Demand
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5. None of these
Answer : Biochemical Oxygen Demand

Direction:
Read the following passage car efully and answer the questions given below it. Certain words/ Phrases have been

printed in bold to help you locate them while answering some of the questions.

Ganga is the living symbol of the faith of Indianness. The Ganges is the largest river in India with extraordinary
religious significance. The river provides water to 40 per cent of India’s population in 11 states of India. In other
words, Ganga is the lifeline of India. The holy Ganges, whichdescended from Gangotri, is becoming muddy day by
day. Today it is considered the sixth most polluted river in the world. According to the World Bank report, the
polluted Ganges water is the cause of 12 per cent of diseases in Uttar Pradesh. It is a matter ofgrave concern that
Ganga water is neither drinkable nor is it suitable for bathing nor irrigation. Scientists believe that the Ganges water
contains a bacterium called bacteriophage, which kills bacteria and other harmful micro-organisms. But due to
pollution, the number of these beneficial viruses has also decreased significantly. Apart from this, turtles, fish and
other aquatic animals playing an active role in making Ganga clean are on the verge ofannihilation. According to
the 2018 report of the Central Pollution Control Board, there are 151 streams where about 10 lakh litres of water
flows daily and these drains meet in the Ganges, from which about 10,500 million litres per day (MLD) of polluted
water reaches the Ganges every day. The amount of BOD (biochemical oxygen demand) in this polluted water
ranges from 350 to 430 tons per day (TPD), which is equivalent to the defecation of more than one crore people.
According to a United Nations estimate, 80 per cent of the contaminated water is being dumped in the two main
tributaries of the Ganges River. A campaign to clean the holy river was started in 1986, it is called the first phase of
the Ganga Action Plan. Under this, the government made several efforts. After this, Yamuna Action Plan-1, Ganga
Action Plan-2 and Gomti Action Plan were launched, but none got good results. Later, the Narendra Modi
government has launched the Namami Gange scheme. This scheme was started by the government in 2015 and a
provision of 20 thousand crores was made for it. Namami Gange projects to be completed by 2022. This target was

earlier set for 2019.

Question No. 10
What did the following scheme started in 1986, to clean Ganga, called?

Options:
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1. First phase of Ganga Action Plan

2. Ganga Action Plan-2

3. Second Phase of Ganga Action Plan
4. Gagotri Action Plan

5. None of these
Answer : First phase of Ganga Action Plan

Direction:
Read the following passage car efully and answer the questions given below it. Certain words/ Phrases have been

printed in bold to help you locate them while answering some of the questions.

Ganga is the living symbol of the faith of Indianness. The Ganges is the largest river in India with extraordinary
religious significance. The river provides water to 40 per cent of India’s population in 11 states of India. In other
words, Ganga is the lifeline of India. The holy Ganges, which descended from Gangotri, is becoming muddy day by
day. Today it is considered the sixth most polluted river in the world. According to the World Bank report, the
polluted Ganges water is the cause of 12 per cent of diseases in Uttar Pradesh. It is a matter ofgrave concern that
Ganga water is neither drinkable nor is it suitable for bathing nor irrigation. Scientists believe that the Ganges water
contains a bacterium called bacteriophage, which kills bacteria and other harmful micro-organisms. But due to
pollution, the number of these beneficial viruses has also decreased significantly. Apart from this, turtles, fish and
other aquatic animals playing an active role in making Ganga clean are on the verge ofannihilation. According to
the 2018 report of the Central Pollution Control Board, there are 151 streams where about 10 lakh litres of water
flows daily and these drains meet in the Ganges, from which about 10,500 million litres per day (MLD) of polluted
water reaches the Ganges every day. The amount of BOD (biochemical oxygen demand) in this polluted water
ranges from 350 to 430 tons per day (TPD), which is equivalent to the defecation of more than one crore people.
According to a United Nations estimate, 80 per cent of the contaminated water is being dumped in the two main
tributaries of the Ganges River. A campaign to clean the holy river was started in 1986, it is called the first phase of
the Ganga Action Plan. Under this, the government made several efforts. After this, Yamuna Action Plan-I, Ganga
Action Plan-2 and Gomti Action Plan were launched, but none got good results. Later, the Narendra Modi
government has launched the Namami Gange scheme. This scheme was started by the government in 2015 and a
provision of 20 thousand crores was made for it. Namami Gange projects to be completed by 2022. This target was

earlier set for 2019.

e Question No. 1M
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Which of the following statement/s is/are true regarding the Namami Gange scheme?
Options:

1. For this scheme, a provision of 20 thousand crores was made .
2. It was launched by the Narendra Modi government in 2015.

3. Its aim is to make Ganga clean by 2020.

4.BothB&C

5.Both A & B
Answer : Both A &amp; B

Direction:
Read the following passage car efully and answer the questions given below it. Certain words/ Phrases have been

printed in bold to help you locate them while answering some of the questions.

Ganga is the living symbol of the faith of Indianness. The Ganges is the largest river in India with extraordinary
religious significance. The river provides water to 40 per cent of India’s population in 11 states of India. In other
words, Ganga is the lifeline of India. The holy Ganges, which descended from Gangotri, is becoming muddy day by
day. Today it is considered the sixth most polluted river in the world. According to the World Bank report, the
polluted Ganges water is the cause of 12 per cent of diseases in Uttar Pradesh. It is a matter ofgrave concern that
Ganga water is neither drinkable nor is it suitable for bathing nor irrigation. Scientists believe that the Ganges water
contains a bacterium called bacteriophage, which kills bacteria and other harmful micro-organisms. But due to
pollution, the number of these beneficial viruses has also decreased significantly. Apart from this, turtles, fish and
other aquatic animals playing an active role in making Ganga clean are on the verge ofannihilation. According to
the 2018 report of the Central Pollution Control Board, there are 151 streams where about 10 lakh litres of water
flows daily and these drains meet in the Ganges, from which about 10,500 million litres per day (MLD) of polluted
water reaches the Ganges every day. The amount of BOD (biochemical oxygen demand) in this polluted water
ranges from 350 to 430 tons per day (TPD), which is equivalent to the defecation of more than one crore people.
According to a United Nations estimate, 80 per cent of the contaminated water is being dumped in the two main
tributaries of the Ganges River. A campaign to clean the holy river was started in 1986, it is called the first phase of
the Ganga Action Plan. Under this, the government made several efforts. After this, Yamuna Action Plan-I, Ganga
Action Plan-2 and Gomti Action Plan were launched, but none got good results. Later, the Narendra Modi
government has launched the Namami Gange scheme. This scheme was started by the government in 2015 and a

provision of 20 thousand crores was made for it. Namami Gange projects to be completed by 2022. This target was
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earlier set for 2019.

¢ Question No. 12
Which of the following is most opposite in meaning to the word GRAVE in the passage?
Options:

1. significant
2. substantial
3. frivolous

4. momentous

5. None of these
Answer : frivolous

Direction:

Read each sentenceto find out whether thereisany grammatical error init. Theerror, if any, will bein one part of
the sentence. Mark the part with the error asyour answer. If thereisnoerror, mark ‘No error’ asyour answer.
Ignorethe errorsof punctuation, if any.

e Question No. 13

The bank was put under "directions" by the RBI last month due for weak financial health, wherein the central bank

has capped the deposit withdrawals at Rs 25,000.
Options:

1. The bank was put under "directions"

2. by the RBI last month due for weak financial health
3. wherein the central bank has capped

4. the deposit withdrawals at Rs 25,000.

5. No error
Answer : by the RBI last month due for weak financial health

Direction:

Read each sentenceto find out whether thereisany grammatical error init. Theerror, if any, will bein one part of
the sentence. Mark the part with the error asyour answer. If thereisnoerror, mark ‘Noerror’ asyour answer.
Ignoretheerrorsof punctuation, if any.
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e Question No. 14

This morning | woke up with the buzzword ringing in my ears “NEVER SETTLE” and immediately decide to hit the

running track.
Options:

1. This morning | woke up with the
2. buzzword ringing in my ears

3. “NEVER SETTLE” and immediately
4. decide to hit the running track

5. No error
Answer : decide to hit the running track

Direction:

Read each sentenceto find out whether thereisany grammatical error init. Theerror, if any, will bein one part of
the sentence. Mark the part with the error asyour answer. If thereisnoerror, mark ‘No error’ asyour answer.
Ignoretheerrorsof punctuation, if any.

e Question No. 15

E-cigarette industry targets youth as potential customers — many of whom is never-smokers who view the devices

as a form of recreation and sometimes a fashion statement.
Options:

1. E-cigarette industry targets youth as potential

2. customers - many of whom is never-smokers who
3. view the devices as a form of recreation

4. and sometimes a fashion statement.

5. No error
Answer : customers - many of whom is never-smokers who

Direction:

Read each sentenceto find out whether thereisany grammatical error init. Theerror, if any, will bein one part of
the sentence. Mark the part with the error asyour answer. If thereisnoerror, mark ‘Noerror’ asyour answer.
Ignoretheerrors of punctuation, if any.



0D
ixam Pees @

e Question No. 16
Metro authorities started planting more tree to counteract the loss of the trees due to metro work.
Options:

1. Metro authorities started

2. planting more tree

3. to counteract the loss of

4. the trees due to metro work

5. No error
Answer : planting more tree

Direction:

Read each sentenceto find out whether thereisany grammatical error init. Theerror, if any, will bein one part of
the sentence. Mark the part with the error asyour answer. If thereisnoerror, mark ‘No error’ asyour answer.
Ignoretheerrorsof punctuation, if any.

e Question No. 17

Some countries consider cryptocurrency as property (in the U.S) and people have to paid taxes on possession of

these.
Options:

1. Some countries consider

2. cryptocurrency as property (in the U.S)
3. and people have to paid

4. taxes on possession of these.

5. No error
Answer : and people have to paid

Direction:

In each of the questions given below, four words are given in bold. These four words may or may not bein their
correct position. The sentence isthen followed by optionswith the correct combination of wordsthat should replace
each other in order to make the sentence grammatically and contextually correct. Find the correct combination of
wordsthat replace each other. If the sentenceiscorrect asit is, select ‘E’ asyour option.
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e Question No.18

As the water desperation (A) has deepened, so has our crisis (B) and the extent we are prepared to go to

spirituality (C) the basic principles of both science and violate (D).
Options:

1. Only A-D
2. Both B-C and A-D
3.0nly B-D
4.Both A-B and C-D

5. The sentence is correct
Answer : Both A-B and C-D

Direction:

In each of the questions given below, four words are given in bold. These four words may or may not bein their
correct position. The sentence isthen followed by options with the correct combination of wordsthat should replace
each other in order to make the sentence grammatically and contextually correct. Find the correct combination of
wordsthat replace each other. If the sentenceiscorrect asit is, select ‘E’ asyour option.

e Question No.19

After niche (A) its place as the leader in the expansion (B) smartphone segment in India, One Plus is looking to

further enhance its presence with cementing (C) marketing campaigns and offline store premium (D).
Options:

1. Only A-C
2.Both A-D and B-C
3.Both A-C and B-D
4. Only B-D

5. The sentence is correct
Answer : Both A-C and B-D

Direction:

In each of the questions given below, four words are given in bold. These four words may or may not bein their
correct position. The sentence isthen followed by optionswith the correct combination of wordsthat should replace
each other in order to make the sentence grammatically and contextually correct. Find the correct combination of



0D
ixam Pees @

wordsthat replace each other. If the sentenceis correct asit is, select ‘E’ asyour option.

e Question No. 20

Industrial agriculture, shocks (A) and increasing weather defor estation (B) are destroying the land we depend (C) on

for food, with the world’s poorest hit (D) hard.
Options:

1. Only A-C
2. Both B-C and A-D
3.0nly A-B
4.Both A-B and C-D

5. The sentence is correct
Answer : Only A-B

Direction:

Rearrange the given five sentences A, B, C, D, and E in a proper sequence so as to form a meaningful paragraph and

then answer the given question.

e Question No. 21

Which of the following should be the FIRST sentence after the rearrangement?
Options:

1D
2.C
3.E
4.B

5. A
Answer: D

Direction:

Rearrange the given five sentences A, B, C, D, and E in a proper sequence so as to form a meaningful paragraph and

then answer the given question.
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e Question No. 22

Which of the following should be the FIFTH sentence after the rearrangement?
Options:

1A
2.C
3.E
4.B

5.D
Answer : B

Direction:

Rearrange the given five sentences A, B, C, D, and E in a proper sequence so as to form a meaningful paragraph and

then answer the given question.

e Question No. 23

Which of the following should be the THIRD sentence after the rearrangement?
Options:

1.B
2.C
3.E
4.A

5.D
Answer: E

Direction:

Rearrange the given five sentences A, B, C, D, and E in a proper sequence so as to form a meaningful paragraph and

then answer the given question.
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e Question No. 24

Which of the following should be the SECOND sentence after the rearrangement?
Options:

1E

2.C
3.B
4.A

5.D
Answer : C

Direction:

Rearrange the given five sentences A, B, C, D, and E in a proper sequence so as to form a meaningful paragraph and

then answer the given question.

e Question No. 25

Which of the following should be the FOURTH sentence after the rearrangement?
Options:

1.C
2.B
3.E
4.A

5.D
Answer: A

Direction:

(Q.26-30): In the following passage ther e are blanks, each of which has been numbered. These numbersare printed
below the passage and against each five words ar e suggested, one of which fitsthe blank appropriately. Find out the
appropriate words.

The Centre’s push to resolve the problem of bad loans through an ordinance is likely to ...........(26) the banks’

provisioning costs in the short-term as they will need to take significant haircuts or write-offs on their non-per-
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forming assets, according to Fitch Ratings.

Further losses due to higher provisioning for bad loans could............... (27) weaker banks closer to a breach of
their capital requirements and even force mergers...................(28) they receive ‘pre-emptive capital injections,’ the

agency said in a report.

While Fitch said that the greater powers assigned to the central bank to ..................(29) in banks at ‘an earlier stage
when risks build” is an important step towards a healthy banking system in the future, the move also makes it more

likely that the number of state banks will fall in the medium-term.
Further losses at some of the weakest small-to medium-sized state banks could pressure them to shrink, or to
.................. (30) exit the system by entering into forced mergers.
Question No. 26

26.

1) spike

2) tarnish

3) alleviate

4) eradicate

5) None of these

Options:

1.1)

2.2)
3.3)
4.4)

5.5)
Answer : 1)

Direction:

(Q.26-30): In the following passage ther e are blanks, each of which has been numbered. These numbersare printed
below the passage and against each five words ar e suggested, one of which fitsthe blank appropriately. Find out the
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appropriate words.

The Centre’s push to resolve the problem of bad loans through an ordinance is likely to ...........(26) the banks’
provisioning costs in the short-term as they will need to take significant haircuts or write-offs on their non-per-

forming assets, according to Fitch Ratings.

Further losses due to higher provisioning for bad loans could............... (27) weaker banks closer to a breach of
their capital requirements and even force mergers...................(28) they receive ‘pre-emptive capital injections,” the

agency said in a report.

While Fitch said that the greater powers assigned to the central bank to...................(29) in banks at ‘an earlier stage
when risks build’ is an important step towards a healthy banking system in the future, the move also makes it more

likely that the number of state banks will fall in the medium-term.
Further losses at some of the weakest small-to medium-sized state banks could pressure them to shrink, or to
.................. (30) exit the system by entering into forced mergers.
Question No. 27

27.

1) encourage

2) promote

3) nurture

4) disrupt

5) None of these

Options:

1.1)

2.2)
3.3)
4.4)

5.5)
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Answer : 4)

Direction:

(Q.26-30): In the following passage ther e ar e blanks, each of which has been numbered. These numbersare printed
below the passage and against each five words ar e suggested, one of which fitsthe blank appropriately. Find out the
appropriate words.

The Centre’s push to resolve the problem of bad loans through an ordinance is likely to ...........(26) the banks’
provisioning costs in the short-term as they will need to take significant haircuts or write-offs on their non-per-

forming assets, according to Fitch Ratings.

Further losses due to higher provisioning for bad loans could............... (27) weaker banks closer to a breach of
their capital requirements and even force mergers..................(28) they receive ‘pre-emptive capital injections,” the

agency said in a report.

While Fitch said that the greater powers assigned to the central bank to ..................(29) in banks at ‘an earlier stage
when risks build” is an important step towards a healthy banking system in the future, the move also makes it more

likely that the number of state banks will fall in the medium-term.
Further losses at some of the weakest small-to medium-sized state banks could pressure them to shrink, or to
.................. (30) exit the system by entering into forced mergers.
Question No. 28

28.

1) because

2) although

3) unless

4) nevertheless

5) None of these

Options:

1.1)

2.2)
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3.3)
4. 4)

5.5)
Answer : 3)

Direction:

(Q.26-30): In the following passage ther e ar e blanks, each of which has been numbered. These numbersare printed
below the passage and against each five words ar e suggested, one of which fitsthe blank appropriately. Find out the
appropriate words.

The Centre’s push to resolve the problem of bad loans through an ordinance is likely to ...........(26) the banks’
provisioning costs in the short-term as they will need to take significant haircuts or write-offs on their non-per-

forming assets, according to Fitch Ratings.

Further losses due to higher provisioning for bad loans could .............. (27) weaker banks closer to a breach of
their capital requirements and even force mergers...................(28) they receive ‘pre-emptive capital injections,” the

agency said in a report.

While Fitch said that the greater powers assigned to the central bank to...................(29) in banks at ‘an earlier stage
when risks build” is an important step towards a healthy banking system in the future, the move also makes it more

likely that the number of state banks will fall in the medium-term.

Further losses at some of the weakest small-to medium-sized state banks could pressure them to shrink, or to
.................. (30) exit the system by entering into forced mergers.

Question No. 29

29.

1) interrupt

2) intervene

3) discontinue

4) intrude

5) None of these



0D
ixamBee 2

Options:

1.1)

2.2)
3.3)
4.4)

5.5)
Answer : 2)

Direction:

(Q.26-30): In thefollowing passage ther e ar e blanks, each of which has been numbered. These numbersare printed
below the passage and against each five words ar e suggested, one of which fitsthe blank appropriately. Find out the
appropriate words.

The Centre’s push to resolve the problem of bad loans through an ordinance is likely to ...........(26) the banks’
provisioning costs in the short-term as they will need to take significant haircuts or write-offs on their non-per-

forming assets, according to Fitch Ratings.

Further losses due to higher provisioning for bad loans could............... (27) weaker banks closer to a breach of
their capital requirements and even force mergers. ..................(28) they receive ‘pre-emptive capital injections,’ the

agency said in a report.

While Fitch said that the greater powers assigned to the central bank to ..................(29) in banks at ‘an earlier stage
when risks build” is an important step towards a healthy banking system in the future, the move also makes it more

likely that the number of state banks will fall in the medium-term.

Further losses at some of the weakest small-to medium-sized state banks could pressure them to shrink, or to
.................. (30) exit the system by entering into forced mergers.

Question No. 30

30.

1) accordingly

2) eventually

3) fortunately



4) unfortunately
5) None of these
Options:

1.1)

2.2)
3.3)
4.4)

5.5)
Answer : 2)

Direction:
What will comein place of question mark (?) in the following question?

e Question No. 31
. 1/2 . 2 _ [ 2
[3645 +45) /< + (176 + 22)2=(?) 2+ 24
Options:

1.14
2.49
3.7
4.28

5. None of these
Answer:7

Direction:
What will comein the place of question mark (?) in the following given question:

e Question No. 32
436 x 794 - 68210 =? + 85730

Options:

ixam
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1.192244
2.192444
3.182244
4.172424

5.212244
Answer : 192244

Direction:
What will come in place of question mark (?) in the following question?

e Question No. 33

9(8/13) - 4/5 x 35 x 160 + 520 + x/6 =1/6 x 1800 + 1/7
Options:

1.10196
2.11795
3.12594
4.13792

5. None of these
Answer : 12594

Direction:
What should comein place of the question mark (?) in the following number series?

e Question No. 34

16 241 ? 620 684 1413
Options:

1.306

2.261

3.277



4.3M

5.412

Answer : 277

Direction:
What should comein place of question mark (?) in the following number series?

Question No. 35

33,7, 66,825,99, 1155

Options:

1.49.5
2.545
3.47.25
4.35.25

5. None of these
Answer : 49.5

Direction:
What will comein the place of question mark in the following number series?

Question No. 36

39, 58, 7,126, 175, 234

Options:

1. 87
2.66
3.93
4.113

5. None of these
Answer : 87

Direction:

ixam
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What will comein place of question mark (?) in the following number series?

e Question No. 37
611 619 635 649 668 °?
Options:

1.688
2.673
3.692
4.680

5. None of these
Answer : 688

Direction:
What should comein place of question mark ‘?' in the following number series?

e Question No. 38
5,16, 49,148, 445, ?
Options:

1.1336
2.1051
3.1136
4.1221

5. None of these
Answer : 1336

Direction:
Simplify the following questions:

e Question No. 39

04913 x (83521 x /3136 + 7 =7

ixam
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Options:

1.1008
2.1612
3.2312
4.836

5.2850
Answer : 2312

Direction:
What will comein place of question mark (?) in the following question?

e Question No. 40
/34225 x \/1296 - (1) + 2525 =? x 11
Options:

1.535

2.824
3.652
4.774

5. None of these
Answer : 824

Direction:
Study the following table carefully and answer the questions given below:
No. of marks obtained by five studentsin five subjectsin an Examination

(Total marksin all the five subjectsin each are 200)

ixam
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SUBJECT/STUDENT | ENGLISH | MATHS | HISTORY | GEOGRAPHY | SCIENCE
AMAN 112 190 115 124 120
PRADEEP 165 100 145 148 50
PRAVEEN 100 105 135 115 110
NAVEEN 86 102 155 140 115
DEEPAK 160 130 140 120 120

e Question No. 41

Marks obtained by Praveen in History was approximately what percentage of marks obtained by Aman in

Geography?

Options:

1.109%
2.88%

3.1M4%
4.122%

5. None of these

Answer : 109%

Direction:
Study thefollowing table carefully and answer the questions given below:

No. of marks obtained by five studentsin five subjectsin an Examination

(Total marksin all the five subjectsin each are 200)

SUBJECT/STUDENT | ENGLISH | MATHS | HISTORY | GEOGRAPHY | SCIENCE
AMAN 112 190 115 124 120
PRADEEP 165 100 145 148 30
PRAVEEN 100 105 135 115 110
NAVEEN 96 102 155 140 115
DEEPAK 160 1320 140 120 120

e Question No. 42
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The total marks obtained by Pradeep in English and history together was approximately what percentage of marks

obtained by Deepak in English?
Options:

1. 214%
2.188%
3.194%
4.172%

5. None of these
Answer : 194%

Direction:
Study the following table carefully and answer the questions given below:

No. of marks obtained by five studentsin five subjectsin an Examination

(Total marksin all the five subjectsin each are 200)

SUBJECT/STUDENT | ENGLISH | MATHS | HISTORY | GEOGRAPHY | SCIENCE
AMAN 112 150 115 124 120
PRADEEP 165 100 145 148 S0
PRAVEEN 100 105 135 115 110
NAVEEN 96 102 155 140 115
DEEPAK 160 1320 140 120 120

e Question No. 43

Who among them secured highest total marks in English, History and Geography?

Options:

1. Praveen
2. Naveen
3. Deepak
4. Pradeep

5. Aman



Answer : Pradeep

Direction:

Study the following table carefully and answer the questions given below:

No. of marks obtained by five studentsin five subjectsin an Examination

(Total marksin all thefive subjectsin each are 200)

SUBJECT/STUDENT | ENGLISH | MATHS | HISTORY | GEOGRAPHY | SCIENCE
AMAN 112 190 115 124 120
PRADEEP 165 100 145 148 80
PRAVEEN 100 105 135 115 110
NAVEEN 86 102 155 140 115
DEEPAK 160 130 140 120 120

e Question No. 44

ixam
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If the minimum pass percentage is 50 in each subject to be declared pass in the examination, how many of them

failed in the examination?

Options:

1. None
2.1
3.3
4.2

54

Answer: 2

Direction:

Study the following table carefully and answer the questions given below:

No. of marks obtained by five studentsin five subjectsin an Examination

(Total marksin all thefive subjectsin each are 200)



SUBJECT/STUDENT | ENGLISH | MATHS | HISTORY | GEOGRAPHY | SCIENCE
AMAN 112 190 115 124 120
PRADEEP 165 100 145 148 50
PRAVEEN 100 105 135 115 110
NAVEEN 86 102 155 140 115
DEEPAK 160 130 140 120 120

e Question No. 45

Who among them secured highest total percentage of marks?

Options:

1. Aman

2. Deepak
3. Pradeep
4. Praveen

5. Naveen

Answer : Deepak

e Question No. 46

ixam

If cost price of 20 articles is equal to selling price of x articles & profit % is 25, find the value of x?

Options:

1.10
2.15
3.16
4.20

5. None of these

Answer : 16

e Question No. 47

0(6
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4 men and 6 women together or 8 men can complete a piece of work in 20 days. 6 men and 6 women will complete

the same work in
Options:

1.16 days
2.14 days
3.18 days
4.12 days

5. None of these

Answer : 16 days

e Question No. 48

A solid metal cylinder having a radius of 7cm and height of 21 cm is melted down and recast as a cone having radius

of 3.5 cm. Find the height of the cone.
Options:

1.226cm
2.252cm
3.264cm
4.272cm

5. None of these

Answer : 252cm

e Question No. 49

Reyansh and Sahil started business investing Rs. 14000 and Rs.18000 respectively. What is Sahil’s share out of a total

profit of Rs. 96000?
Options:

1.38000

2.54000
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3.28000
4.42000

5. None of these

Answer : 54000

Question No. 50

If a man sells two articles at same selling price, if first is sold at10% profit & second is sold at 10% loss then what is

the net profit or l0ss%?
Options:

1.1% profit

2.1% loss

3. no profit, no loss
4.10ss 2%

5. None of these
Answer : 1% loss

Direction:
What will comein place of question mark (?) in the following question?

Question No. 51

40% of 4000 + 20% of 420 = x% of 8420
Options:

1.40
2.20
3.35
4.45

5. None of these
Answer : 20

Direction:



Simplify the following questions:

e Question No. 52
16 X440 +7.2 + 09 + 215 x13.2 = ?2 - 171
Options:

1.79
2.67
3.61
4.56

5.77
Answer : 61

Direction:
Simplify the following questions:

e Question No. 53
(4/7) of 280 x 45 + 9 + ? = 870
Options:

1.70
2.30
3.40
4.60

5.80
Answer : 70

Direction:
What will comein place of question mark (?) in the following question?

e Question No. 54

[(180 x 12) + 72— 135 = 45]=?x 9

ixam
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Options:

1.1
2.2
3.3
4.4

5. None of these
Answer: 3

Direction:
What will comein place of question mark (?) in the following question?

e Question No. 55

(5555 + 50) + (224 + 28) + (1372 +14) = ?
Options:

1.413.5
2.1441
3.2171
4.1771

5. None of these
Answer : 2171

Direction:

Answer the questions based on the information. Bar graph given below shows the goals scored and goals accepted
by top 5 teamsin afootball league for a season.



V24
IBPS Clerk Prelims 2020 Previous Year Paper |xam‘w

—=Prepare 50% Faster

B Goal scored

M Goal Accepted

T T
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e Question No. 56

What is the average number of goals accepted by these 5 teams together in the tournament?

Options:

1.16
2.18
3.12
4.14

5. None of these
Answer : 18

Direction:

Answer the questions based on the information. Bar graph given below shows the goals scored and goals accepted
by top 5teamsin afootball league for a season.
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e Question No. 57

Out of the total goals scored for team Chelsea, 25 goals were scored by forward players. Then what is the

percentage contribution of forward players in the total goals scored?
Options:

1.53%
2.67%
3. 7%
4.43%

5. None of these
Answer : 71%

Direction:

Answer the questions based on theinformation. Bar graph given below showsthe goals scored and goals accepted
by top 5teamsin afootball league for a season.
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e Question No. 58

If a team gets 3 points for scoring a goal and 1 point is subtracted if the team accepts the goal. Which of the

following teams will have second highest number of points?
Options:

1. Chelsea

2. Man United
3. Liverpool

4. Tottenham

5. Arsenal
Answer : Chelsea

Direction:

Answer the questions based on theinformation. Bar graph given below showsthe goals scored and goals accepted
by top 5teamsin afootball league for a season.
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e Question No. 59

What is the ratio of total number of goals scored by Arsenal and Chelsea together to the total number of goals

scored by Tottenham and Man United together?
Options:

1.5:6
2.3:4
3.8:9
4.10:M

5. None of these
Answer:10: 1

Direction:

Answer the questions based on theinformation. Bar graph given below showsthe goals scored and goals accepted
by top 5teamsin afootball league for a season.
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e Question No. 60

Chelsea

B Goal scored

M Goal Accepted

Arsenal

Liverpool Tottenham

Which of the following teams have accepted minimum number of goals in the whole tournament?

Options:

1. Chelsea

2. Man United

3. Liverpool
4. Tottenham

5. Arsenal

Answer : Tottenham

e Question No. 61

The sum of present ages of Ria and Anju is 52 years. Today Anju is 4 years older than Shweta. The respective ratio of

the present ages of Ria and Shweta is 1: 1. What was Anju’s age 2 years ago?

Options:

1. 31years

2.36.5 years
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3.20 years
4. 26 years

5.18 years

Answer : 26 years

e Question No. 62
Rs.1581is divided among A, B and C in the ratio 10 : 15 : 6. What is the share of B?
Options:

1.306
2.765
3.750
4. 600

5. None of these

Answer : 765

e Question No. 63

Ram, Ankit and Shivam together can do a piece of work in 10/3 days. Ram could do it alone in 6 days and Ankit

could do it alone in 12days. In how many days could Shivam do it alone?
Options:

1.10 days

2.20 days
3.15 days
4. 25 days

5. None of these

Answer : 20 days

e Question No. 64
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Two buses start from a bus terminal with a speed of 40 km/h at interval of 20 minutes. Find the speed of a man

coming from the opposite direction towards the bus terminal if he meets the buses at interval of 16 minutes.
Options:

1.15 km/hr
2.16 km/hr
3.10 km/hr
4.12 km/hr

5. None of these

Answer : 10 km/hr

e Question No. 65
If the base and height of a triangle are in the ratio of 2:5 and area is 125 cmz. Find its base and height.
Options:

1.12 cmand 25 cm.

2.10 cm and 50 cm.
3.10 cm and 25 cm.
4.20 cm and 25 cm.

5. None of these
Answer : 10 cm and 25 cm.

Direction:
Study the following information carefully to answer the given questions:

10 people celebrate their birthday on 15th and 20th of 5 months - January, March, April, June and November.

R celebrates birthday after Q. L celebrates his birthday on 15th of the month which has 31 days. Exactly 2 persons
celebrate their birthdays between that of L and P. Exactly 3 persons celebrate birthday between that of P and O. M
celebrates birthday just before T but not in June or November. Also, both M and T celebrate a birthday in the same
month. The number of persons celebrating a birthday before O is same as the number of persons celebrating

birthday after N. Both of U and S celebrate a birthday in the same month and U celebrates a birthday before S.
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e Question No. 66
Who celebrates a birthday just after R?
Options:

1L

2.7
3.N
4.0

5. None of these
Answer: O

Direction:
Study thefollowing information carefully to answer the given questions:

10 people celebrate their birthday on 15th and 20th of 5 months - January, March, April, June and November.

R celebrates birthday after Q. L celebrates his birthday on 15th of the month which has 31 days. Exactly 2 persons
celebrate their birthdays between that of L and P. Exactly 3 persons celebrate birthday between that of P and O. M
celebrates birthday just before T but not in June or November. Also, both M and T celebrate a birthday in the same
month. The number of persons celebrating a birthday before O is same as the number of persons celebrating

birthday after N. Both of U and S celebrate a birthday in the same month and U celebrates a birthday before S.
e Question No. 67
How many people celebrated their birthday before M?

Options:

13
2.4
3.2
4.1

5. None of these

Answer: 4
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Direction:
Study the following information carefully to answer the given questions:

10 people celebrate their birthday on 15th and 20th of 5 months - January, March, April, June and November.

R celebrates birthday after Q. L celebrates his birthday on 15th of the month which has 31 days. Exactly 2 persons
celebrate their birthdays between that of L and P. Exactly 3 persons celebrate birthday between that of P and O. M
celebrates birthday just before T but not in June or November. Also, both M and T celebrate a birthday in the same
month. The number of persons celebrating a birthday before O is same as the number of persons celebrating

birthday after N. Both of U and S celebrate a birthday in the same month and U celebrates a birthday before S.

e Question No. 68
Who is celebrating his birthday just after the birthday celebration of S?
Options:

.U
2.Q
3.0
4. None

5. None of these
Answer : None

Direction:
Study thefollowing information car efully to answer the given questions:

10 people celebrate their birthday on 15th and 20th of 5 months - January, March, April, June and November.

R celebrates birthday after Q. L celebrates his birthday on 15th of the month which has 31 days. Exactly 2 persons
celebrate their birthdays between that of L and P. Exactly 3 persons celebrate birthday between that of P and O. M
celebrates birthday just before T but not in June or November. Also, both M and T celebrate a birthday in the same
month. The number of persons celebrating a birthday before O is same as the number of persons celebrating

birthday after N. Both of U and S celebrate a birthday in the same month and U celebrates a birthday before S.

e Question No. 69
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Who all are celebrating their birthdays in the month of March?
Options:

1L Q
2.R,S
3N, P
4. M, T

5. None of these
Answer: N, P

Direction:
Study the following information carefully to answer the given questions:

10 people celebrate their birthday on 15th and 20th of 5 months - January, March, April, June and November.

R celebrates birthday after Q. L celebrates his birthday on 15th of the month which has 31 days. Exactly 2 persons
celebrate their birthdays between that of L and P. Exactly 3 persons celebrate birthday between that of P and O. M
celebrates birthday just before T but not in June or November. Also, both M and T celebrate a birthday in the same
month. The number of persons celebrating a birthday before O is same as the number of persons celebrating

birthday after N. Both of U and S celebrate a birthday in the same month and U celebrates a birthday before S.
Question No. 70
Who is celebrating his birthday on the 20th of January?

Options:

1L
2M
3.Q
4.5

5. None of these
Answer: Q

Direction:
Read the following information car efully and answer the questions given below.
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Eight persons are sitting in two parallel rows containing four persons in each in such a way that there is an equal
distance between adjacent persons. In row-1, A, B, C and D are seated and all of them are facing north and each of
them likes different subjects viz., Physics, Maths, Hindi and English but not necessary in the same order. In row-2, Q,
R, S and T are seated and all of them are facing south and each of them likes different subjects viz.,, Chemistry,
Biology, History and Civics but not necessary in the same order. Each person seated in a row faces another person

of the other row.
(i) B sits second to the left of the one who likes English. R sits to the immediate right of the one who likes History.

(ii) A sits to the immediate left of the one who likes Hindi. The one who likes Chemistry faces B. Q faces the one

who likes Maths but does not sit at either extreme ends of the row.

(iii) C faces the one who likes Biology. The one who likes Biology sits second to the right of T.

Question No. 71
Who sits between A and the one who likes Physics?
Options:

1.B
2.C
3.D
4. Cannot be determined

5. The one who likes Hindi
Answer : C

Direction:

Read the following infor mation car efully and answer the questions given below.

Eight persons are sitting in two parallel rows containing four persons in each in such a way that there is an equal
distance between adjacent persons. In row-1, A, B, C and D are seated and all of them are facing north and each of
them likes different subjects viz., Physics, Maths, Hindi and English but not necessary in the same order. In row-2, Q,
R, S and T are seated and all of them are facing south and each of them likes different subjects viz., Chemistry,
Biology, History and Civics but not necessary in the same order. Each person seated in a row faces another person

of the other row.
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(i) B sits second to the left of the one who likes English. R sits to the immediate right of the one who likes History.

(ii) A sits to the immediate left of the one who likes Hindi. The one who likes Chemistry faces B. Q faces the one

who likes Maths but does not sit at either extreme ends of the row.

(iii) C faces the one who likes Biology. The one who likes Biology sits second to the right of T.

Question No. 72
Who among the following sit at extreme ends of the row?
Options:

1. R and the one who likes Chemistry
2.S and the one who likes Civics

3. T and the one who likes Biology

4. D and the one who likes Physics

5. None of these
Answer : D and the one who likes Physics

Direction:

Read the following infor mation car efully and answer the questions given below.

Eight persons are sitting in two parallel rows containing four persons in each in such a way that there is an equal
distance between adjacent persons. In row-1, A, B, C and D are seated and all of them are facing north and each of
them likes different subjects viz.,, Physics, Maths, Hindi and English but not necessary in the same order. In row-2, Q,
R, S and T are seated and all of them are facing south and each of them likes different subjects viz., Chemistry,
Biology, History and Civics but not necessary in the same order. Each person seated in a row faces another person

of the other row.
(i) B sits second to the left of the one who likes English. R sits to the immediate right of the one who likes History.

(ii) A sits to the immediate left of the one who likes Hindi. The one who likes Chemistry faces B. Q faces the one

who likes Maths but does not sit at either extreme ends of the row.

(iii) C faces the one who likes Biology. The one who likes Biology sits second to the right of T.
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e Question No. 73
Who among the following likes Physics?
Options:

1B

2.C
3.D
4.A

5. None of these
Answer : B

Direction:
Read the following information car efully and answer the questions given below.

Eight persons are sitting in two parallel rows containing four persons in each in such a way that there is an equal
distance between adjacent persons. In row-1, A, B, C and D are seated and all of them are facing north and each of
them likes different subjects viz., Physics, Maths, Hindi and English but not necessary in the same order. In row-2, Q,
R, S and T are seated and all of them are facing south and each of them likes different subjects viz., Chemistry,
Biology, History and Civics but not necessary in the same order. Each person seated in a row faces another person

of the other row.
(i) B sits second to the left of the one who likes English. R sits to the immediate right of the one who likes History.

(i) A sits to the immediate left of the one who likes Hindi. The one who likes Chemistry faces B. Q faces the one

who likes Maths but does not sit at either extreme ends of the row.

(iii) C faces the one who likes Biology. The one who likes Biology sits second to the right of T.

e Question No. 74
Who among the following faces the one who likes Civics?
Options:

1.C
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2.A
3.B
4.D

5. Cannot be determined
Answer: A

Direction:

Read the following infor mation car efully and answer the questions given below.

Eight persons are sitting in two parallel rows containing four persons in each in such a way that there is an equal
distance between adjacent persons. In row-1, A, B, C and D are seated and all of them are facing north and each of
them likes different subjects viz., Physics, Maths, Hindi and English but not necessary in the same order. In row-2, Q,
R, S and T are seated and all of them are facing south and each of them likes different subjects viz., Chemistry,
Biology, History and Civics but not necessary in the same order. Each person seated in a row faces another person

of the other row.
(i) B sits second to the left of the one who likes English. R sits to the immediate right of the one who likes History.

(ii) A sits to the immediate left of the one who likes Hindi. The one who likes Chemistry faces B. Q faces the one

who likes Maths but does not sit at either extreme ends of the row.

(iii) C faces the one who likes Biology. The one who likes Biology sits second to the right of T.

Question No. 75

Four of the following five are alike in a certain way and hence form a group. Which one of the following that does

not belong to the group?
Options:

1T

2.D
3.R
4.5

5.B

Answer: R
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Direction:

In these questions, relationship between different elementsis show in the statements. The statements ar e followed
by conclusions. Study the conclusions based on the given statements and select the appropriate answer:

Question No. 76
Statements:B=z0<Q=F>S=Z>H<P
Conclusionl: O<F I:F>H
Options:

1. If only conclusion | follows.

2. If only conclusion Il follows.

3. If either conclusion | or Il follows

4. If neither conclusion | nor Il follows.

5. If both conclusions | and Il follow
Answer : If both conclusions | and Il follow

Direction:

In these questions, relationship between different elementsis show in the statements. The statements ar e followed
by conclusions. Study the conclusions based on the given statements and select the appropriate answer :

Question No. 77

Statements: S>W>J<0>T=M=B=A<Y
Conclusion : T<W 1:0=B
Options:

1. If only conclusion | follows.

2. If only conclusion Il follows.

3. If either conclusion | or Il follows

4. If neither conclusion I nor Il follows.

5. If both conclusions | and Il follow

Answer : If neither conclusion | nor Il follows.
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Direction:

In these questions, relationship between different elementsis show in the statements. The statements ar e followed
by conclusions. Study the conclusions based on the given statements and select the appropriate answer:

Question No. 78
Statements:Y=M=sF>P=A=D>S=0=N
Conclusion: O =P :0<P
Options:

1. If only conclusion | follows.

2. If only conclusion Il follows.

3. If either conclusion | or Il follows

4. If neither conclusion | nor Il follows.

5. If both conclusions | and Il follow
Answer : If only conclusion Il follows.

Direction:

In these questions, relationship between different elementsis show in the statements. The statements ar e followed
by conclusions. Study the conclusions based on the given statements and select the appropriate answer :

Question No. 79
Statements:H>F>R<O=N>L=M=T=S
Conclusion l: L<F ll:L=F
Options:

1. If only conclusion | follows.

2. If only conclusion Il follows.

3. If either conclusion | or Il follows

4. If neither conclusion I nor Il follows.

5. If both conclusions | and Il follow

Answer : If either conclusion | or Il follows
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Direction:

In these questions, relationship between different elementsis show in the statements. The statements ar e followed
by conclusions. Study the conclusions based on the given statements and select the appropriate answer:

Question No. 80
Statements:B>Y<N=sJ>7Z=2S=U>G=Q
Conclusion I: J > Y :2=G
Options:

1. If only conclusion | follows.

2. If only conclusion Il follows.

3. If either conclusion | or Il follows

4. If neither conclusion | nor Il follows.

5. If both conclusions | and Il follow
Answer : If only conclusion | follows.

Direction:
Read the following infor mation car efully and answer the questions given below.

P8IT%R93NSLA74CB+&HEQ? #GFKS @)

Question No. 81

How many such numbers are there each of which is immediately preceded by a consonant but not followed by a

symbol?
Options:

1. None
2.0ne
3. Two
4.Three

5. More than three

Answer : Two
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Direction:
Read the following infor mation car efully and answer the questions given below.

P8IT%R93NSLA74CB+&HEQ? #GFKS @

e Question No. 82
Which of the following element is exactly in between ‘2" and ‘S’ in the given series?
Options:

1.Q
2 #
3.C
4.+

5.B
Answer : B

Direction:
Read the following information carefully and answer the questions given below.

P8IT%YR93NSLAZ74CB+&HEQ?#GFKS @J

e Question No. 83

How many such symbols are there each of which is immediately followed by a number but not immediately

preceded by a consonant?
Options:

1. None
2.0ne
3. Two
4. Three

5. More than three

Answer : None
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Direction:
Read the following infor mation car efully and answer the questions given below.

P8IT%R93NSLA74CB+&HEQ? #GFKS @

Question No. 84

Four of the following five are alike in a certain way and hence form a group. Which one of the following that does

not belong to the group?
Options:

1. C+H
2.9NA
3.FSJ

4.8TR

5.35A
Answer : ONA

Direction:
Read the following information carefully and answer the questions given below.

P8IT%R93NSLA74CB+&HEQ? #GFKS @)

Question No. 85

If all the vowels and the numbers are dropped from the above arrangement, then which of the following will be

eighth to the left of the element which is second from the right end?
Options:

1A
2.8
3.?
4.H

5. #
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Answer : H

Direction:

Read the given information carefully and answer the questions:

Six persons born in six different months starting from January to June of the same year. Not more than three
persons born in between P and O. Only two persons born in between R and O. P born after R in the month which
have even numbers of days. Only two persons born in between P and Q who born before P. M born in the month

which has 31 days. N born after O who born before Q.

Question No. 86
Who among the following person born immediately before R?
Options:

1M

2.Q
3.0
4.N

5. None of these
Answer : N

Direction:

Read the given information carefully and answer the questions:

Six persons born in six different months starting from January to June of the same year. Not more than three
persons born in between P and O. Only two persons born in between R and O. P born after R in the month which
have even numbers of days. Only two persons born in between P and Q who born before P. M born in the month

which has 31 days. N born after O who born before Q.

Question No. 87

Who among the following person born in February?
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Options:

1R
2.Q
3.0
4.p

5. None of these
Answer: O

Direction:

Read the given information carefully and answer the questions:

Six persons born in six different months starting from January to June of the same year. Not more than three
persons born in between P and O. Only two persons born in between R and O. P born after R in the month which
have even numbers of days. Only two persons born in between P and Q who born before P. M born in the month

which has 31 days. N born after O who born before Q.
Question No. 88
How many persons born between M and R?

Options:

1. Four

2. Three

3. More than four
4. None

5.Two
Answer : Three

Direction:

Read the given information carefully and answer the questions:

Six persons born in six different months starting from January to June of the same year. Not more than three

persons born in between P and O. Only two persons born in between R and O. P born after R in the month which
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have even numbers of days. Only two persons born in between P and Q who born before P. M born in the month

which has 31 days. N born after O who born before Q.

Question No. 89
In which month Q was born?
Options:

1. February
2. June

3. January
4. April

5. March
Answer : March

Direction:

Read the given information carefully and answer the questions:

Six persons born in six different months starting from January to June of the same year. Not more than three
persons born in between P and O. Only two persons born in between R and O. P born after R in the month which
have even numbers of days. Only two persons born in between P and Q who born before P. M born in the month

which has 31 days. N born after O who born before Q.

Question No. 90
Who among the following person born immediately after O?
Options:

1.Q
2.P
3.0
4. M

5. None of these
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Answer: Q

Question No. 91

How many such pairs of letters are there in the word ‘/EXPERIENCED’ each of which has as many letters between
them in the word (in both backward and forward direction) as they have between them in the English alphabetical

series?
Options:

1. None
2.0ne
3. Two
4. Three

5. More than three
Answer : More than three

Direction:

Study the information given below and answer the questionsthat follow:

Monika starts walking from point A. After walking 4 km in east direction she reached to point B. Then she turned to
her left and walk 3 km to reach point C. From there she turned back to A via shortest route. From there she starts
walking in south direction and after walking 5 km she reached to point D, then she turned left and walks 8km to
reach point E. From there she turns left and walks equal distance of distance from point A to point D and reach

point F. Finally she turned right and reaches to point G after walking 4km.
Question No. 92
Which points are in a straight line?

Options:

1A DG
2.C,BE
3.A,B,D

4.B,F,G
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5FCG
Answer:B, F, G

Direction:
Study the infor mation given below and answer the questionsthat follow:

Monika starts walking from point A. After walking 4 km in east direction she reached to point B. Then she turned to
her left and walk 3 km to reach point C. From there she turned back to A via shortest route. From there she starts
walking in south direction and after walking 5 km she reached to point D, then she turned left and walks 8km to
reach point E. From there she turns left and walks equal distance of distance from point A to point D and reach

point F. Finally she turned right and reaches to point G after walking 4km.
Question No. 93
What will be the shortest distance between point A and point C?

Options:

1.5 km

2.14 km
3.8km
4.6 km

5.9 km
Answer : 5 km

Direction:
Study thefollowing information and answer the given questions:

There are six persons J, K, L, P, Q and R in a family. There are two fathers, four brothers and one mother in the family.

L is the brother of R. K is the brother of Q’s husband. P is the father of J and grandfather of R.

Question No. 94
Who is the mother in the family?

Options:
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1K

2.R
3.Q
4.1

5. None of these
Answer: Q

Direction:
Study the following information and answer the given questions:

There are six persons J, K, L, P, Q and R in a family. There are two fathers, four brothers and a mother in the family. L

is the brother of R. K is the brother of Q’s husband. P is the father of J and grandfather of R.

Question No. 95
How is R related to Q?
Options:

1. daughter
2.s0n

3. brother
4. sister

5. None of these
Answer : son

Direction:

Study the following information car efully to answer the given questions:

There are seven personsi.e. A, B, C, D, E, F and G who lives in a building having three floors such that ground floor is
numbered as 1and above it is 2 and so on up to top floor numbered as 3. Each of the floor consist of 3 flats as flat-1,
flat-2 and flat-3. Flat-1 of floor-2 is immediately above flat-1 of floor-1 and immediately below flat-1 of floor-3 and in
the same way flat-2 of floor-2 is immediately above flat-2 of floor-1and immediately below flat-2 of floor-3 and so
on. Flat-2 is in east of flat-1and flat-3 is in east of flat-2. Not less than two person lives on the same floor. Only one
person lives in a flat. Two flats are vacant. Only one floor is between F and G but both live in same flat number. D

lives immediately west to G. E lives immediately above C. No one lives on the east of F. C does not lives in the same
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flat number as D. E and D do not live on the same floor. A does not live in the same flat number as C. B live below
the floor on which A lives but not in the same flat number. B lives in an even numbered flat and on even numbered

floor but not on the same floor on which C lives.

Question No. 96
On which of the following floor three persons lives?
Options:

1.1st Floor

2.2nd Floor

3.3rd Floor

4. Can't be determined

5. Either 1st or 3rd
Answer : 1st Floor

Direction:

Study the following information carefully to answer the given questions:

There are seven persons i.e. A, B, C, D, E, F and G who lives in a building having three floors such that ground floor is
numbered as 1 and above it is 2 and so on up to top floor numbered as 3. Each of the floor consist of 3 flats as flat-1,
flat-2 and flat-3. Flat-1 of floor-2 is immediately above flat-1 of floor-1and immediately below flat-1 of floor-3 and in
the same way flat-2 of floor-2 is immediately above flat-2 of floor-1 and immediately below flat-2 of floor-3 and so
on. Flat-2 is in east of flat-1and flat-3 is in east of flat-2. Not less than two person lives on the same floor. Only one
person lives in a flat. Two flats are vacant. Only one floor is between F and G but both live in same flat number. D
lives immediately west to G. E lives immediately above C. No one lives on the east of F. C does not lives in the same
flat number as D. E and D do not live on the same floor. A does not live in the same flat number as C. B live below
the floor on which A lives but not in the same flat number. B lives in an even numbered flat and on even numbered

floor but not on the same floor on which C lives.

Question No. 97

Which of the following is true regarding A?
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Options:

1. Flat 1- 2nd Floor
2. Flat 3- 3rd Floor
3. Flat 1- 3rd Floor
4. Flat 2- 2nd Floor

5. None of these
Answer : Flat 1- 3rd Floor

Direction:

Study the following information car efully to answer the given questions:

There are seven personsie. A, B, C, D, E, F and G who lives in a building having three floors such that ground floor is
numbered as 1and above it is 2 and so on up to top floor numbered as 3. Each of the floor consist of 3 flats as flat-1,
flat-2 and flat-3. Flat-1 of floor-2 is immediately above flat-1 of floor-1and immediately below flat-1 of floor-3 and in
the same way flat-2 of floor-2 is immediately above flat-2 of floor-1and immediately below flat-2 of floor-3 and so
on. Flat-2 is in east of flat-1 and flat-3 is in east of flat-2. Not less than two person lives on the same floor. Only one
person lives in a flat. Two flats are vacant. Only one floor is between F and G but both live in same flat number. D
lives immediately west to G. E lives immediately above C. No one lives on the east of F. C does not lives in the same
flat number as D. E and D do not live on the same floor. A does not live in the same flat number as C. B live below
the floor on which A lives but not in the same flat number. B lives in an even numbered flat and on even numbered

floor but not on the same floor on which C lives.
Question No. 98
Who among the following lives immediately below E?

Options:

1A
2.B
3.C
4.D

5.F

Answer: C
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Direction:

Study the following information carefully to answer the given questions:

There are seven persons i.e. A, B, C, D, E, F and G who lives in a building having three floors such that ground floor is
numbered as 1 and above it is 2 and so on up to top floor numbered as 3. Each of the floor consist of 3 flats as flat-1,
flat-2 and flat-3. Flat-1 of floor-2 is immediately above flat-1 of floor-1 and immediately below flat-1 of floor-3 and in
the same way flat-2 of floor-2 is immediately above flat-2 of floor-1 and immediately below flat-2 of floor-3 and so
on. Flat-2 is in east of flat-1and flat-3 is in east of flat-2. Not less than two person lives on the same floor. Only one
person lives in a flat. Two flats are vacant. Only one floor is between F and G but both live in same flat number. D
lives immediately west to G. E lives immediately above C. No one lives on the east of F. C does not lives in the same
flat number as D. E and D do not live on the same floor. A does not live in the same flat number as C. B live below
the floor on which A lives but not in the same flat number. B lives in an even numbered flat and on even numbered

floor but not on the same floor on which C lives.

Question No. 99
A live on which of the following flat?
Options:

1. Flat1
2.Flat 2
3.Flat3
4. Either (a) or (b)

5. Either (a) or (c)
Answer : Flat 1

Direction:

Study thefollowing infor mation car efully to answer the given questions:

There are seven persons i.e. A, B, C, D, E, F and G who lives in a building having three floors such that ground floor is
numbered as 1 and above it is 2 and so on up to top floor numbered as 3. Each of the floor consist of 3 flats as flat-1,
flat-2 and flat-3. Flat-1 of floor-2 is immediately above flat-1 of floor-1 and immediately below flat-1 of floor-3 and in
the same way flat-2 of floor-2 is immediately above flat-2 of floor-1 and immediately below flat-2 of floor-3 and so

on. Flat-2 is in east of flat-1and flat-3 is in east of flat-2. Not less than two person lives on the same floor. Only one
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person lives in a flat. Two flats are vacant. Only one floor is between F and G but both live in same flat number. D
lives immediately west to G. E lives immediately above C. No one lives on the east of F. C does not lives in the same
flat number as D. E and D do not live on the same floor. A does not live in the same flat number as C. B live below
the floor on which A lives but not in the same flat number. B lives in an even numbered flat and on even numbered

floor but not on the same floor on which C lives.

e Question No. 100
Who among the following lives immediately above B?
Options:

1A
2.D
3.G
4.F

5. None of these

Answer : F
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